(HE=ET

= <) = o s
RKFH AN B HE R A% 3
k2846 A 30 H HFE
xFs |AF|F X | e s x¥s | AP F | F | x¥4 | MNP P E -
AAAMHE | SAEAHNY | RAEHE AARAMEE | AEARSR | REMHK AARAMHE | SAEAMHER | BEHEK

F/N AAK | 7,139 7,199 14338| [FATH BEEIN 521 490 1,0I1| [FE_-TH HAKN 676 671 1,347
AEAN 53 | 50 103 AEAN 5 3 SAEA ] 10] 4 24
g 7,192 | 7,249 | 14, il 526 493 1,019 il 686 685| 1,371
6,041 T 366,113 106 2 T 409 783 5 g 197
R RET HAN [ 1,854 I8I4| 3668| [F—TH HAN 779 720 _1,499| [FE=TH AN [ 432 123 855
SEA R 16| 21 AEAN 5 3 8 SEAN 2 3 5
ia 1,859 | 1,830 3,689 784 723 1,507 in 434 426 860
1,413 3 91,425 641 I 5 647 285 2 3 290
EE2E) HAX 216 95| 41| [F_TH RN 569 533 LI02| [FREWTHE | HAX [ 128 126 zs4

EAL S 1| 4 AEA 6| _5f 11 SEAL I 2
3 219 196 415 2 575 538 1,113 ; 129 128 25T
165 3 0 163 132 8 344 104 [ 0 105
ESEZEEEARESN 600 582 | 1182 | [F=TH “AAN | A7 406 B3| [EIE—TH | HAKN [ 651 508 1,249
SEA 5] 6] II AEAN| 5 4 9 SEAN 2 21 4
2 605 588 | 1,193 gt 452 410 862 s 653 600| 1,253
297 5 1 506 350 5 T 386 372 T 3 376
FETEAE | TEA o W 58] [FEWTHE TR o2 9L 393 [ERE=TE [ BAEA | 882 367 749
SHELA o 0] 0 SEAN i 20 3 SHEA 3 4
- 40 48 88 ot 203 193 396 5 — 383 370 753
75 0 0 15 159 I 2 162 270 i 3 AL
*—TH HAKX 43 413 856 | [FLTH HAK | 35 35 70| [ETSI=TH | AAN 531 519 1,050
SHEA D O 2 SHEA o  of 0 _HEA 1 a0 3
z 444 414 858 i | 35] 35 70 ot 532 521 1,063
354 0 2 356 75 0 0 o 383 ) ) 386
E_TH “HAKN 318 298 6I6 | [FAT—T 8 AN | 560  o64| L,124| [EIEMIE | HAKN | 532|  bl4| 1,046
AEA 3 3 6 AEA 6 4 SEA L T || —A
b 321 301 622 2 566  568| 1,134 ] 533 515| 1,048
LY 7 z 248 I72 3 3 478 340 0 ) REY)
E=TH AAN | 322|359 68l | [FET—TH EZ N 7% 48& 956 | [EAIEETH | BAKXN 272 257 529
MHEAN 0 4| 2 SHEA L9 11 SEA of 4 = 4
z 322 361 683 Fis 479 —488 967 I Y ¢ 261 533
245 0 2 LY 392 5 T 398 I85 0 3 188
EZhE CHAX | 674 B50 | 1,324 | [|[FEr=T18 AAK 24 391 BI5| [ETEATH | AN 76 168 344 |
AEAN|] 3| 5 8 HAEA I 3 4 AEAN 7 4 11
z 677 655 | 1,332 ik 495|394 819 B 183 172 355
563 ! 3 570 REW) I 3 346 109 6 3 118
EEmNE EEIN 699 689 | I,388| [Fm—1T8 HANA 58] 127 285 | [ETRSFETH | BAKN | 0 0 0
SEAN | 11 10 21 AE KN 1 2 3 SEA o 0 0
38 710 699 | 1,409 gt 159 129 288 it 0 0 0
548 I3 3 564 125 I I 127 0 0 0 0




i

= Y = 5 ==
KFH A O # EF A—v: 2 END
YRk 2846 A 30 H HRAE
) | ANF|LFELE ast| | ke | AR K e AR Z | X &
?K‘Mﬁéﬂ:@ MAW NEEH AR I eI A
Mee—1T 8 y 3 352 145 A U HAN ) U
HA 3 Il 4 AEAL U SHELA — 0
i 395 353 748 5 0 st 0
763 I 3 767 U U
RiEE_TH | HAAN oldl  b4Z] 1,056 CHAN - U | HAN | 1 0
| JREIA S V] I ] N, SEA -~ Y CHEAL 0
F 514 547| 1,061 i 0] 5 0
358 0 5 363 U 0
NEe=TH | HAA 240 200 484 HAN | Y HAN 1 v
AEA Y Y SEA I [Y MELA 0
ot 246 238 484 B 0 g 0
173 U U 173 U U
e T H | HAKN | 394 000 (9Y HAN . Y HAN U
SEN I 2 3 AEA 0 HEA 0
7 395 367 767 if 0 i 0
291 2 1 SOV U U
FRELTH | AN 57 359 716 TARK — U “HAKN | —
SEIA | 2 2 4 SHEA 0 SEA 0
7 359 361 720 = 0 &t 0
Zol 1 1 2900 U
[PTEEANT B | HAKN 138 125 283 HAKN — U AAN | U
AEA 0 o 0 HNEAN |0 HEA — U
B 138 145 783 5 U 2 0
Y3 [§) U Vo U U
BT AR | 22,295 | 21,830 | 44,125 K| — T THAR 0
SHELA 150 171 321 SEA 0 AEA - 0
i | 22,445 | 22,001 | 44.446 FiF 0 5t 0
17,400 117 119 ] 17,041 U U
HAKN U AR [\ —HAK 0
SHELA _ N 0 AEA — Y SEA N I
Bt 0 Bt 0 2t 0
U U U
HAX ]| HAK B 0 EZ N U
SHELA i | — 0 SHEA _ U _AEA = 0
& 0 g 0 =z 0
U U U
TN U HAK B 0 EP TN — U
_SHEA I 0 _FEA [Y) MNEA 0
it 8 it 8 i 8




